EARAROBEEIERT — 2 N— IBISH —F

20165181080 (H) 19m{£E4H

IGBC2—3# C2 #5%4m®L B R
[AE4£] 1% :130,000 ™ ~ 23#&:30,000”  33%&:12,000 M  43%&:7,000H ~ 53 :4,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. H il :32. —-4-2- . — ABRBK (EB)
o Ky hO— K 4 4 an 1(3_2)4 4-4-2-1 | 39.1 1 (4_728) =i =
RIVINA T A—H— B:T747Y+v2R BEH Hi
4 7 | BHEA 1:32.8 5-5-5-4 |39.0 | — 3 488 | REM (£H)
2 4 T/ 70—L4 56.0 ©) (3) | BAXT
RvAFINTY B:ATHT— HEFHRF—T I
¢ o4 | AIER 1:32.8 3-3-3-3 [ 39.3| — 6 489 | BBTE (1£H)
3 3 INLANA O— 56.0 (74=) (-6) SF#;'ZEEA -
Lok IAAA— BNUNy =TI BHR=t All%E
., s = RHE#EC : —7-7- — I (E8)
4 NEEIAE T 9 e 1.(343).5 8-7-7-5 | 39.2 7 (4323; Ao
RiZFrE—HFT—IK B:R-Z-F5> HIA XLy b
N [ii{m[2 :33. -1-1- . — IHAZEA (1£8)
5111 |TF/N=R b # o6 | LD 1(733t)6 1-1-1-2 | 40.5 2 (i?z) ) e
R:F>T7A4T7 B:SLE8THhyT B B
N 4 5 | JISHE 1:33.9 7-8-8-8 | 39.5| — 4 467 | THERE (£R)
EE 6| ZTIVL—> 56.0 (1'1/2) (+4) () J P N
LT RIA Y L—> B:xIAYTrAY [QLR<0F e ]
R - BER—m : —6-6- — THERE (1£8)
7155 va-577-1 it 4 e 1(7311:? 6-6-6-7 | 40.1 5 <4+720) ggg =
H R YLy B VATV — HET77—L4
= o4 | RBEZ 1:34.9 2-2-4-6 |41.5| — 8 476 | WIEZEAN (£H)
8|8|g| 7AF—X 54.0 (5) Cy | RS
R:xyULTyk B:AXEYY-— Evdly RTp—L
@ 1—F—@&BIEf
13=7r= 1,8,3,7,4,5,6,2
Aol=5r= 1,8,3,7,4,5,2,6
30—7+— 1,7,3,8,4,5,2,6
41—+ — 7,1,3,4,2,8,5,6
[ RN
B OB 7 180H4 714K 4-7 180H B E 4-7 400M &R 3-4-7 1,340H
8 B 7 110 3-7 440 B H 7-4 490M JEH 7-4-3 2,780
4 1804 3-4 700M
8 230M

ABICOVWTRDTEEERROODE. TR LIV,




